MPJ6-65.51E

. " l—Lx/\
No. i i im 4 Parts Name Eg; ESS
1 7100120500 =y Casing 1 =) P80-235 (hay)
3 17100425932 IR E Impeller 1 4v~7— 10084
4 17510502520 PR E TR Impeller Nut 1 |ey#7 Fyb 16MM SUS304
5 7510800620 PR T NI A 4 Spring Washer 1 |27 7yv% 16MM SUS304
6 7510901120 SPIAR e — Impeller Key 1 |pzasd- 5X5X20 SUS304
7 7100811600 VamyS Casing Cover 1 r=vurin-235155ML-24 L' N A+ a2y
(70-2) 7002603532 fr— 2B~ AT Liner ring 1 |=92)v7" 100X90X10 MPJ5.6 31
8 17010307051 = TR Casing Packing 1 O )y P 230X3
11 70015013008 WK H Suction Port 1 Fayafay O-6N V&Y NUY% (hay)
12 17004200751 0k S Suction Valve 1 Faur{~v 0-80 NEW
21 7202900300 K O IER Plug 1 |797° PF 1/0 07y (GD(hay)
22 17010302252 KD ke S Packing 1 |0V/ P-32 NBR
23 17202003500 7Ty Companion Flange 2 TA77Y" 80.J.9A (hay)
24 17004006051 TILRF Flange Packing 2 7707 Ny SS-80 NR/SBR
34 7510405511 = ABEBUS AR Bolt 4 |aypy ®Wh M8X25 a=/m
38 7510408811 Wk A ERAS AR L Bolt 4 myhy Fvh M12X35 2=/u
42 17510409211 7 F VBRIV Bolt 16 |myt7 &AL M12X55 2=/n
43 7510502011 M7 I VUt F ok Nut 16 |wyhs Fyb 12MM 2271
44 17011010711 FESIRHE TS Plug 1 vwTh=v%7°9)" 3/8 Hvhsui—t
45 17202900200 NN Plug 1 797" PF1/2 (G1/2) MY
46 7010305052 KLU T 8% Packing 1 |OV»/ ORI1516-16(AN6227-16)
49 17011010711 B ETZT Plug 1 vwTh=v%7°9)" 3/8 Hvhsui—t
53 7510807220 SPIAR BT N S 4 Washer 1 Uyvy 17X28X3 SUS304
60 7010109399 AH=TI)—)v Mechanical Seal 1 AA=ANVy=)v EA560-25CCN
75 17202212200 A~ —2 Base 1 |~'vb D200-35
88 7510910220 o— /L Roll Pin 1 |e=pby 6X16 SUS304
114 7510408611 R 7RV Bolt 4 |uyhy b M12X25 2=/m
119 (7003551099 EEEE (B4 Motor Assy 1 |£=MVIKH3-FCKLAW21E(MP] 5.5Kw)
186 7100310300 WNER T — 7 Inner Casing 1 |7 =y Colal
(70-1) 7002603532 W r— o 7~ AU T Liner ring 1 |=92)v7" 100X90X10 MPJ5.6 31
225 17010306251 N — o o Packing 1 0OV MP-L 115X110X2.5
299 7510407211 A/ TN Bolt 6 oAy &k M10X25 2271
306 (7510408611 EEVE SRR LR Bolt 1 lmyhZ Kb M12X25 2=/u
307 7510502011 B SR> b Nut 1 |ey#Z Fyb 12MM 2271
1)@ 7003705569 AL —F Strainer 1 |[AN—F 80MM PE
1)@ 7005902199 Il Operation Manual 1 |[N7Yi4tYA{va MP]




